



Reasoning and Problem Solving ANSWERS
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Match the equivalent calculations.
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Tommy says,

Dividing by 2 is the same
S as finding half of a number

4 3
SO+ 2is the same as
14

271

Do you agree?
Explain why.

Tommy is correct.
It may help
children to
understand this by
reinforcing that
1,4

= X —is the same
2 n

14
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Complete the missing integers.
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15 _s
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15 _3
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Rosie walks for ;c:f an hour over 3days. | Rosie walks for ~ of
4

She walks for the same amount of time an hour each day.
each day. She walks for 15
How many minutes does Rosie walk minutes each day.

each day?




